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E—J0v) BBAAUNIISON-Z | ElRaFDEERE ZE—A-3v>X BEraIrvr-X LENT =X glalo| B o R ETREEES
=N s Of 8 1[4/181 O] 2 0 |4/11] x| 3 9 3/1]0]0.750 2 | 30| 13 [ 0.698
HEEF VIR X| 3 1 4/29 | x| 3 10]4/18| x| 1 9 0| 4| 0]0.000 5 8 | 43 ]0.157
EA-3v2X 4/25 | x| 1 8|4/11| O] 7 1 4/4 5/1 [ x] 1 9 1|3|0/[0.250 4 | 9 | 25 |0.265
RETBIPAV-X 4/18 | x| o 2 |4/29]| 0110 3 44 [O] 7 4/25| x| 0 8 2| 2] 0]0.500 3|17 | 13 | 0.567
{LNEINT—Z 4/11 |Of 9 3[4/18]1 0f 9 1] 5/1 |O| 9 1 40| 0]1.000 1 |35]| 5 |0.875

£_J0vy JNEA—=JIX F>INI-RX T4 - E)545-X Bla| o] Bx NEfZ | 18| Ken [ B
NEBA—FILX 3 4/29 | Al 9 9 [4/18] x| 3 7 [4/11] O] 10 0 2| 1] 1]0.667 2 | 25| 16 [ 0.610
F29N0-X - JpA 17— X| o 3 4/11 | x| 1 6 |4/25| x| 2 9 |4/18| O] 5 2 1|3|0/[0.250 4 | 8 | 20 | 0.286
E)51A-X 4/29 | Al 9 914/11|0O ol 7 0 2| 1] 1]0.667 3 | 23| 18 |0.561
E-NT31-X 4/18 |Of 7 3[4/25|1 0] 9 2| 44 [O] 8 1 Ol 14 2 40| o0]1.000 1| 38| 8 |0.826
#u57 4/11 | x| o 10| 4/18 | x | 2 5[4/25[x]o0 5/1 0| 4] 0]0.000 5] 4 | 36 [0.100

$=J0vy IESEERS RETBEErEXYY IRAD EFFERED Wy ERHYRTYIR +- Blals| B g4I | 85 | ke | BaR
ILFET7(9—X 6| 53 |x]|o 10| 4/18 | x [ 3 4 |4/11| O] 13 7 1|3[0[0.250 4 | 21 | 27 | 0.438
RETBEErEXYY 4/4 O] 6 5 X 4/25 | O 11 7 [4/18[ O] 10 0 311]0]0.750 2 | 29| 21 [ 0.580
IRAD EEEFERED 5/3 O] 10 0 4/4 7 4/25| 01 10 0 4(o0fo0]1.000 1|36 ]| 2 |0.947
Ry BERAYRTYIR 4/18 | O 4 3(4/25]| x| 7 11| 4/4 | x| 0 7 O 1 2| 2] 0]0.500 3| 26| 22 |0.542
SH-IVRIL 4/11 | x| 7 13| 4/18 [ x| 0 10| 4/25 | x| 0 10 0| 4] 0]0.000 5 8 | 48 | 0.143
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g£—JOvy IRADEEFFERED HEEOFDEIFERED Z--SH-BEEXyY INEIRT—X RETBIFAV—X Blalo| B=x 4L | Bes | kma | B
IRA D EEBFERED 5 5/3 |Of11 1]4/18| O 2 0|4/11]| O] 7 1 4] 0] 0]1.000 1 ]25] 5 [0.833
BV EFFIRED 4/4 | x| 3 5 4/11 | O 8 4/25| x | 4 10| 4/18| O 11 9 2| 2| 0]0.500 3 | 26 | 26 | 0.500
E=-SH-BEEXyY 5/3 | x| 1 11| 4/11 | X | 2 8 4/4 1 4/25| 0| 7 4 1|[3]0]0.250 4 | 11| 32 [0.256
{NERT—Z 4/18 [ x| 0 2 [4/25]| 0|10 4 Ol 9 1 5/3 | O] 11 1 3|11[0]0.750 2 | 30| 8 |0.789
RETHIFAV—X 4/11 | x| 1 7| 4/18] x| 9 11 X | 4 7| 5/3 0] 4| 0]0.000 5 | 15 | 36 | 0.294

g_J0v) NEA—=HILX E)915-Z w57 FIHNI—R-TpAv—X Blalo| B=x 4L | Ben | kma | B
NEA—=FILX O 6 4/25|1 O 8 6 3/0[0]1.000 1| 23] 17 | 0.575
E)91H-X 6 O 4/18 1[2]0/]0.333 2 | 25 | 24 | 0.510
a7 5 1]|2]0]0.333 4 | 20 | 25 | 0.444
T J7A 7= 6 X 1]2]0]0.333 3 | 23| 25)]0.479

g=J0v> IWFI7(9—X E-N\-13-X Fr BERAYZTYIR BBEAYNLYSI-Z Blalo| B=x vl EEE S TS
ILETP(9—X 4/18 | X 6 [ 5/3 [ x 11 0] 2] 1]0.000 3 | 15| 22 [ 0.405
E—)—13-X 4/4 | Al 5 5 4/25 0] 2| 1]0.000 4 5 | 26 | 0.161
Y BERHYRTIYIR 4/18 | O| 6 4 |4/25(0|11 0 2| 1|0]0.667 2 | 17| 14 | 0.548
BBEEUNLYSI-X 5/3 |Of 11 6 |4/11| O] 10 0 3]0 0]1.000 1 ]|31]| 6 |0.838




